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DU MPhil PhD in Education

Topic:- DU_J19_MPHIL_EDU

1) Which of the following statistical technique is a measure of relative position?

fafafad 7 @ s-9 gt aeie anfée Rfs s A 2
[Question ID = 24552]

1. Percentile score / RddH® UTdieh [Option ID = 38206]
2. Range / GRER [Option ID = 38203]

3. Standard deviation / A& fage- [Option ID = 38205]
4. Variance / U8RI [Option ID = 38204]

Correct Answer :-
« Range / IR [Option ID = 38203]

2) Which of the following statement is true for Stratified Sampling Method?
I: The strata should be mutually exclusive and collectively exhaustive.

II: The strata should be interdependent and collectively exhaustive.

III: The members within a stratum should be as homogenous as possible.
IV: The members within a stratum should be as heterogeneous as possible.

wfvd ufaesf o= fafy & ey & FaffRa A A PH-TT Py a0 e ?
I: TR RER Uasia R Arfe® &9 & guf g9 91T |

II: R AT 3R ATfe® wu 4 yuf g1 =1 |

III: S8 9% JHd g1 TR & He TP JHTH 811 91T |

IV: SI81 9% |44 8 Wk & e fauirdiyg g1 a1 |

[Question ID = 24567]

1.Iand IV /I 3R IV [Option ID = 38264]
2. Tand III / I 3R III [Option ID = 38263]
3.1l and IV / II 3R IV [Option ID = 38265]
4. 11 and III / II 3fRR III [Option ID = 38266]

Correct Answer :-
« Tand III / I 3R III [Option ID = 38263]

3) Which of the following is characteristic of qualitative research?

FrafafEa & 3 qonare iy &1 fiaeor FF-a1 g ?
[Question ID = 24568]

1. Analysis of data using statistical tools / 3l & [dRATUT & T WiReASH T ISR T FANT [Option ID =
38268]
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2. Standardized tests and measures / ﬂ]’ﬂﬁ%qﬁw 3R 91g [Option ID = 38270]
3. Generalisation of findings / freenef o1 At [Option ID = 38267]
4. Unique case orientation / 314 Y AT [Option ID = 38269]

Correct Answer :-
« Generalisation of findings / fBST &7 THRAHRUN [Option ID = 38267]

4) Which of the following is incorrect about ‘Theories’?

frafafed & @ 19 91 sy Rigial & Rua d 1ad @ 2
[Question ID = 24548]

1. Theory, once established becomes a law. / Tdh dRR RIUT 811 & a1e Rigrd Fog 54 9rd % | [Option ID =
38189]

2. Theory explains phenomena, thus enabling prediction. / RIGI wgeT &1 SaraT SRl % 3R I UhR QT{[%
P! GHa §91d1 8 | [Option ID = 38190]

3. Theory presents a systematic view of phenomena described by variables./ RigT TRI gRT gftfa gaesll ®1 T
afRyd =fP TRgd HRT 8 | [Option ID = 38188]

4. Theory is a set of prepositions consisting of defined and inter related constructs./ Rygra aRuig sk
st Ffiffoat & gaa yroAat %1 I g1 [Option ID = 38187]

Correct Answer :-
« Theory is a set of prepositions consisting of defined and inter related constructs./ Rigr=a aRHISd 3R
Sfiaferg fAfHfaal O gad TS %1 9= €| [Option ID = 38187]

5) Which of the following is incorrect about qualitative research?

fFrafafaa A 3 Tuners My & ddy W w1 g8 A8 @ ?
[Question ID = 24550]

1. It also results in some quantification. / $HT URUIMA §& URATUM i 8Id1 § | [Option ID = 38196]

2. Document analysis can be a type of qualitative research. / ASICSAEEGLL] TUTHD MY BT YHR Bl bl %‘ I
[Option ID = 38198]

3. It is a unitary approach following the steps of positivistic research. / g YI&IATS TN &b IR0 I ST Tl
THTHS IURTH g | [Option ID = 38197]

4. Tt is based on phenomenological paradigm which uses a variety of interpretive research methodologies. / Ig

YT de UfaH W 3nemid g i fafay saremers 2y faftrt &1 ST #ar § | [Option ID = 38195]

Correct Answer :-
» Itis based on phenomenological paradigm which uses a variety of interpretive research methodologies. / g

YT A Ufaae WR 3nerid g S fafdy urearers My faftrt &1 SuaivT o1 8 | [Option ID = 38195]

6) Which of the following is incorrect about Normal Probability Distribution?

frafafad & 9 S19-31 FYF ¥ Ui dT 9% & e Tad g ?

[Question ID = 24553]

mﬁwaaaw&ra‘éw% mwm@ww@gwn%%@m% | [Option ID = 38210]
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2. If the distribution is divided into two equal parts then one half is above the mean and the other is below the
mean. / Af¢ e &1 &l T fewal & fauTer fam STe al S O1e ¥ SR g SR T i1e i e 9 9
BT | [Option ID = 38207]

3. The probability of an event occurring between the mean and +1.00 S.D. is 0.343. / HI¥H 3R +1.00 AFH
famra & S ufed €11 arelt gedT &) Uifiear 0.343 § | [Option ID = 38208]

4. The Normal Probability Curve is limited from +3.00 S.D. to -3.00 S.D. No case falls outside this limit. / JTHT
IR dsh +3.00 A fagad § -3.00 AFS faga db IfHd g1 s HY 50 IHT & 16 fafyd g gidl |
[Option ID = 38209]

Correct Answer :-

« If the distribution is divided into two equal parts then one half is above the mean and the other is below the
mean. / ¢ S BT &1 IHH el & fauTer fohar ST ot et A1 § $HOR GRT SR gy i1eT fgwar A 9
= 8T | [Option ID = 38207]

7) Which of the following branch of philosophy would examine moral values, standards of ethical
behaviour, and values in beauty and art?

Frafafea o 3 g3 $t FH-3t 7 Afas gei, Afae gagR & e 3R Jo3daT Td Far & el b
Tteror Hdl B 2

[Question ID = 24593]

1. Epistemology / ST=-HIHT [Option ID = 38367]
2. Logic / TR [Option ID = 38370]

3. Metaphysics / dwa-HHT [Option ID = 38368]
4. Axiology / Hed-HIHET [Option ID = 38369]

Correct Answer :-
« Epistemology / JH-HIHET [Option ID = 38367]

8) Which of the following branches of philosophy would engage with the question- ‘*On what do we
base our knowledge of the world and our understanding of truth’?

WA & Ufd AR 14 3R I & Ufd U IHET &1 T MUK giar § ? Fufafaa # 3 ez &t S19-3dt wmran
THUY A TGS e ?

[Question ID = 24579]

1. Epistemology / STH-HIHT ¥ [Option ID = 38311]
2. Metaphysics / dwd-HIHRIT ¥ [Option ID = 38312]
3. Aesthetics / G<d-HIAT I [Option ID = 38314]
4. Ethics / A= ¥ [Option ID = 38313]

Correct Answer :-
« Epistemology / ITH-HIHRIT ¥ [Option ID = 38311]

9) Which of the following is not considered gender stereotyping?

frafeafad # 3 fPa Ser Fieasdr T8 AT SraT ?

[Question ID = 24588]
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1. An advertisement where the woman handles work, home and kids. / 9T fagmo= fS/ad Afgar o™, 9= 3R W
@I ¢t § | [Option ID = 38348]

2. A children’s book where the father does household chores. / = &1 Jidd fSIH fdT TR &1 HTHBS HRAT | |
[Option ID = 38349]

3. A television program in which doctors are males and nurses are females. /QTC{-‘ZT:{ HRIHY S Sider ey g
3R 7 Afgand | [Option ID = 38347]

4. A movie in which the hero always saves the heroine from danger. /El?ﬂ%ﬂ, oo e g RS B @R I
ST 8 | [Option ID = 38350]

Correct Answer :-
A television program in which doctors are males and nurses are females. / gRaRI HTdHH orgH Sidex Y

§ 3R 7 AfgE | [Option ID = 38347]

10) Which of the following is not a valid dichotomy pertaining to research in education?

fFrafafaa & & Rren & Wy & Jdg A FH-1 fgUST Ay T8 2 |
[Question ID = 24561]

1. Objective-Subjective / a&IS-[dSAY [Option ID = 38241]

2. Longitudinal-Horizontal / 3fI¢e -&fast [Option ID = 38242]

3. Empirical-Philosophical / SHW—W [Option ID = 38240]

4. Quantitative-Qualitative / WW-W [Option ID = 38239]

Correct Answer :-

» Quantitative-Qualitative / Uﬂ'ﬂm—w [Option ID = 38239]

11) Which research method is also called as ‘Practitioner’s’ research?

fra My-vgfa @) gfus My W serwmar @ 2
[Question ID = 24569]

1. Historiography / SfdgTI-aa &1 [Option ID = 38274]

2. Experimental research / ST RN &I [Option ID = 38273]
3. Ethnographical research / :I—GITEﬁ?J MY [Option ID = 38272]
4. Action research / foraTEe® MY BT [Option ID = 38271]

Correct Answer :-
« Action research / fohaTc® QMY B [Option ID = 38271]

12) Which one of the following statements is correct about interactionism?

fafafad & 9 S19-91 FYF sRN=ufhaEae $ g S g g ?
[Question ID = 24584]

1. It regards society as a system, hence it is sometimes referred to as systems theory. / g JHIS P TaRIT
AT g 39101C 39 HH-p i} awuT-Rigra & aR W Ay far Sirar ® 1 [Option ID = 38332]

2. It usuaIIy re]ects the notion of a socral system and SO |t does not regard human actlon as a response or

erj,rq»ql sruar wqan%@q@m Wwﬁﬂﬂmk@pE%D 38333]
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3. It offers a general explanation of society as a whole and as a result is sometimes known as macro theory. /
T8 YU Y J JATS ! YT AR TR Bl § 3R IRUTRaGEY Hl-wft Rigidl & U & SHrsmar g |
[Option ID = 38331]

4. Tt tends to see man'’s behaviour as shaped by the norms and values of the social system / TH R & AR
DI YIRS AT & AFDI 3R T gRT TGT §31 3[ ! UgRy 8l § | [Option ID = 38334]

Correct Answer :-
o It offers a general explanation of society as a whole and as a result is sometimes known as macro theory. /

g I9Y ¥ I IS $1 YT AR UKGd Bl § 3R GRumEawy HHi-daft Rigidl & 0 & 1 Sran §
| [Option ID = 38331]

13) Albert Bandura considers .......ccoraserensasansas as a person’s expectancy of how effective his or her
efforts to accomplish a goal will be in any particular circumstance.

it fafdry uftfRufa o fasslt g &t wifta & fore fanslt aafea & wama fvamt wurdl 819, & Sey o IOt
TR BT ATTE TG wrrnrereresenns AHarg |

[Question ID = 24591]

1. self-efficacy / STH-gHTA TG ol [Option ID = 38362]
2. self-esteem. / JHTH-JHTT [Option ID = 38361]

3. self awareness / 3TH-SIFR=hdl [Option ID = 38360]
4. self-image / 3TH-BId [Option ID = 38359]

Correct Answer :-
o self-image / 3H-Bf [Option ID = 38359]

14) A distribution is said to be “skewed” when the mean and the median are at different points in
the distribution. Which of the following statement is not correct with respect to skewness of a
distribution?

5t de=1 o1 a9 “faun” Fe1 STaT 8 919 wre iR Wt ged & AUF-im g wald | | Fafafea & 9
ded & AU & HaY B PIF-I1 HYT g A8l 8 ?

[Question ID = 24556]

1. Distributions are said to be positively skewed when scores are accumulated at the high end of the scale (Right
hand side). / ¥ &1 YIS FU J faUH H8T 91 § 9 UTics A= & I BR (SR W) W 3Hhg &l o
| [Option ID = 38220]

2. A distribution is said to be “skewed” when the mean and the median are at different points in the distribution./
§eA &1 fau S8l o1d § OF J1ed SR Wi se & fafid fawgsff R g § | [Option ID = 38222]

3. In a normal distribution, the mean equals the median exactly. / 9MHI §cd T O1e AfedT & ﬁw SRIER Il
8 | [Option ID = 38219]

4. The more distributions approach to the normal distribution, mean and median gets closer to each other. / 5Id

§e YR S & e Fde gid §, T SR W] Uh-ger & Hfie THg o o & | [Option ID = 38221]

Correct Answer :-
« In a normal distribution, the mean equals the median exactly. / IMH= & o O1e AfedT & ﬁw SRTSR
BT 8 | [Option ID = 38219]

www.FirstRanker.com
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Manisha says "milk” whenever she wants her milk from the kitchen . Subsequently, she says “milk”
after she has had a drink. Using a single phrase to mean different things is an example of:

HfraT o oft TSR @ gy Ared @ 98 'gU’ pedt @ | ¥F €1 o9 a8 $o ok ot &Y 4t & q@ o 'gu € wedt
2 | it Aol & o v &t Suares &1 YhT 31 IR0 §

[Question ID = 24587]

1. holophrase. / BIdI%hl &1 [Option ID = 38345]

2. private speech. / UT1gde ¥d &1 [Option ID = 38344]
3. public speech / Ufeids T &7 [Option ID = 38346]
4. telephrase / CElthSl &1 [Option ID = 38343]

Correct Answer :-
« telephrase / ¢allthal &1 [Option ID = 38343]

16) In a quantitative data, a researcher can improve validity of the research work:
I: through careful sampling.

II: limiting the variables.

III: choosing appropriate instrumentation.

IV: applying appropriate statistical treatments of the data.

Which among the following is true?

IR & Al 8, FMydl My $t duar § GUR H IHar g
I ATaYTHIqul giaea |

II TR} &I Hifdd s

III SUYTd SUBIUN BT T YD

IV &< AT & e Sugea wiferata FAREUol &1 Syt Hd
Ffafsfead I sR-aTa g 2

[Question ID = 24559]

and III / I 3fRR III [Option ID = 38234]

, II1 & IV / 1, III 3R 1V [Option ID = 38233]
, I1 & II1 / I, II 3fR III [Option ID = 38231]
, I &IV /1, II 3R IV [Option ID = 38232]

— =

1.
2.
3.
4,

Correct Answer :-
e LIT&III/I,II 3R 111 [Option ID = 38231]

17) In a research hypothesis, stated as, ‘the higher the income of the parent, the better the job
prospects of their children’, which of the following is true?

TMY-Yrah a1 SAfHHTTD! Bt g fSra= i gRft, 39% g & T AR B IHTEATY 9gar gifl’, &
el A Paff@a i d s o e ?

[Question ID = 24566]

1. Both are dependent variables / GIHI AMITRE | [Option ID = 38262]

2. Both are independent variables./ &I a7 @R § | [Option ID = 38261]

3. Income of the parents is an independent variable and job prospects is a dependent variable./ STHTTSR] DI 3T
W3 =R 2 3R ISR Pt WUIEAT 3M1f3d =R & | [Option ID = 38259]

www.FirstRanker.com
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4. Job prospects is an independent variable and income of the parents is a dependent variable./ ISR &1 FHTEAT
Tda TR § SR AYHTaH! BT 3T M IR 8 | [Option ID = 38260]

Correct Answer :-

» Income of the parents is an independent variable and job prospects is a dependent variable./ SYHTGD! B
3T T TR g 3R ASHIR T YHTEAT 31f3d TR § | [Option ID = 38259]

18) According to Sternberg, “"book smarts” is another way of talking about which kind of
intelligence?

TS & AR ‘§F W’ S F 5T TSR & IR T 919 B BT gaRT aRib1 8 2
[Question ID = 24586]

1. Analytical. / TR0 [Option ID = 38339]

2. Practical. / @GNS [Option ID = 38341]

3. Functional fixedness. / ®TadS Fgdl [Option ID = 38340]
4. Emotional / \dffT& [Option ID = 38342]

Correct Answer :-

« Analytical. / faSqUTE® [Option ID = 38339]

19) “A research design allows the investigator to draw causal inferences and observe, with
relatively little difficulty, whether or not the independent variable causes changes in the dependent
variable.”

Which of the following research design is under description in the above statement?

T MY AFUFT AUD P SUETHd FH HSTS P JTY PRUTHSD ey e iR Nevr H31 & Heg
FRal ¢ fb waawa o e =R &1 ufkafda #wd & sruar =gt 1”
Swad sy A Frafafaa ® A e iy sifiees o1 avf= fearmar g 2

[Question ID = 24546]

1. Case-Study based Research Design / Sfadqe &0 TR [NY 31fNdHed BT [Option ID = 38179]
2. Exploratory Research Design / TH=S! RN 3if¥&ed &I [Option ID = 38182]

3. Experimental Research Design / TS QMY 3BT BT [Option ID = 38181]

4. Survey based Research Design / JI&fur SMeTRd TNy HHHeT BT [Option ID = 38180]

Correct Answer :-
o (Case-Study based Research Design / Bqﬁrqﬁ ST MY TN 3NHeg I [Option ID = 38179]

20) Educational institutions and industry, both in the public and private sectors, should ensure
equitable treatment to persons with disabilities because:

Ardei-e 3R et ST et | Qfare TRTSH 3R SN 3 r=raransil Jad afeaal & ATy <ATgETd
FaER YT HA1 13T Fife

[Question ID = 24573]

1. state has the respon5|b|I|ty to ensure access to all spheres for persons with disability. / 3RTeddl Yo Hfeqal &

FOptiom i —="358288]

www.FirstRanker.com
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2. the persons with disability will easily follow all the orders and can be easily controlled. / 3{RTIdl Jad fad gt
TN BT JEoldT I TTa BT 3R I8 3 § A far s g 8 | [Option ID = 38290]

3. the person with disability can be hired on low emoluments. / 3RTaIdT gad TG B HH TIRYTHD TR HIH T
T Sff Hebdl % | [Option ID = 38287]

4. it will enhance the social image of the private organisations. / 39% Sl TG &1 THIIG Bid T | [Option
ID = 38289]

Correct Answer :-
« the person with disability can be hired on low emoluments. / 3RIadT gad Hfad I HH TRYHD TR HH TR
T ST YebdlT § | [Option ID = 38287]

21) If a type of sampling consists of selecting every Kt sampling unit of the population, after the
first sampling unit is selected at random from the total of sampling units it will be:

gfe ufeesf o= ¥ fadll UoR # pa ufoma seEal A yuw Ufawa soTs & qrefde 9k W) g4 &4 & 91
A # A ud® Kt yfa=a 1S &1 99+ MfAa g, df 98 999 g1

[Question ID = 24547]

1. purposive sampling /?ﬁ%’@ gfaest T [Option ID = 38184]

2. systematic sampling / SIafRUd Ufdet T8 [Option ID = 38186]

3. convenient sampling / @me [Option ID = 38183]
4. random sampling / Tl Ufdasl Ia [Option ID = 38185]

Correct Answer :-
« convenient sampling / gfAUTSe UGl 99+ [Option ID = 38183]

22) Amit's mother was upset to find that Amit had not picked up his building blocks after repeated
requests to do so. The next morning, Amit found all his blocks had been picked up and put into a bag
on the top of the refrigerator. Amit’s mother told him that he could not play with his blocks for the
next two days. Which type of discipline did she use?

g ot AT 78 B W A fp IR-aR Fga W 1t 3ifra A srm faf’ sate 8 I & | 3rTelt gas
i A U for 39d Tt s I fore 7Y A iR U &1 H STaw: five & SR 7@ ol e A | iftrg #t |t
A IUY Fel {5 98 M1 3 oA 99 I 1) W 9Ppa1 | 3T 5T PR & =T &1 yanT far 2

[Question ID = 24595]

1. punishment by removal / U9 §RT &8 &1 [Option ID = 38377]

2. punishment by application / 31:\[5@11 GRT ¢S T [Option ID = 38376]
3. negative reinforcement / THRTHD gddrmd T [Option ID = 38375]
4. positive reinforcement / JHRTHD T!Ef?l'r{ DI [Option ID = 38378]

Correct Answer :-
e negative reinforcement / THRIHD l:lﬁdrc"H T [Option ID = 38375]

23) Friere's' Pedagogy of the Oppressed ‘seeks to transform individuals from being objects of
educational processes to subjects of their own -------====-uau-- and emancipation.

D A

wsx-fwﬁzi rstR

~
oY ey v

ot & Faeh

¥U # S Ydid AT
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[Question ID = 24576]

1. Pedagogy / fRIEITRIRA [Option ID = 38301]
2. Autonomy / XdTg<dl [Option ID = 38300]
3. Liberty. / WTd= [Option ID = 38302]

4. Life / STta=T [Option ID = 38299]

Correct Answer :-
« Life / Sfta- [Option ID = 38299]

24) Who amongst the following would believe that “critical consciousness requires recognition that
an individual’s social status, including educational and economic expectations and opportunities, is
largely determined by race, ethnicity, gender, and class”?

frafafad & @ o9 gg 9 f$ difhe a1 &1 59 9141 31 ATaZgedT gl & f Aafea-faxiy 3 Afée
W%m%gmmmwmmwwﬁ:mm,m,mﬁﬁ
gRI ?

[Question ID = 24580]

1. Pragmatic thinkers / TagIR® feid® [Option ID = 38316]

2. Logical positivists / dTfdhas Tefare! [Option ID = 38315]

3. Critical theorists / fTAHTHS RIGida®R [Option ID = 38318]
4. Social constructivists / ARSI fAfHfdaTd} [Option ID = 38317]

Correct Answer :-
o Logical positivists / qIfhe Uerarc [Option ID = 38315]

25) To know the overall trend of the goals and aspirations of government school children, the most
appropriate method would be:

WHR! faemay & g & Y 3R srpienat waeh T3 &) gl ©u A 9+ & i waifle suge fafyr
gft -

[Question ID = 24564]

1. Case-study / BEH%QT—T AT [Option ID = 38251]

2. Experimental research / TN RN [Option ID = 38253]

3. Survey / Hd&UT [Option ID = 38252]
4. Causal-comparative research / ®RUTHD-JTTTHD /MY [Option ID = 38254]

Correct Answer :-
« Case-study / Sfddgd & [Option ID = 38251]

26) In which of the following tests non — parametric statistical treatment of data is done?

frafafad & @ S9-a1 wdieor o Il & R-yrafes giferea g & e fFarsmans 2
[Question ID = 24551]

1_Analysis of Covariance / Ig TR0l IR [Option TD = 382021

2. Factor Analysis / T[0T f=eINUT [Option ID = 38200
www.FirstRanker.com
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3. t-Test / t-UR1&f0T [Option ID = 38201]
4. Chi Square / PTS-THTR [Option ID = 38199]

Correct Answer :-
o Chi Square / PIR-THW [Option ID = 38199]

27) Type II error can be minimized by:

T1SY 11 Ffe &) gaw far i woar @ -
[Question ID = 24560]

1. reducing the level of significance. / Hgd & TR DI g [Option ID = 38237]
2. changing the sample size. / gfdas & ST B JeadH [Option ID = 38236]

3. replacing the instrument. / 3UHRUI P dGADY [Option ID = 38238]

4. increasing the level of significance. / il TR & delhr [Option ID = 38235]

Correct Answer :-
« increasing the level of significance. /WWW B dglhR [Option ID = 38235]

28) In the APA (6th edition) citation style, APA stands for

APA (D3T TIHIT) IGIUT el § APATITE ?
[Question ID = 24570]

1. Asian Psychological Association / Asian Psychological Association [Option ID = 38277]

2. Australian Psychological Association / Australian Psychological Association [Option ID = 38275]
3. American Psychological Association / American Psychological Association [Option ID = 38278]
4. African Psychological Association / African Psychological Association [Option ID = 38276]

Correct Answer :-
» Australian Psychological Association / Australian Psychological Association [Option ID = 38275]

29) Consider following two statements about scales of measurement and tell which scale fits both
the statements?

Statement I- Scores are expressed in equal units.

Statement II- There is a true zero from where the measures are taken.

AR AU & TN & 9y § ¢ HYE A MU | Si-91 T Qi YA & S9Y § SUged § ?
HYF I -UTdid A SH15a] A SfHogad fPu 9 & |
HYF II -TA TR IRAfd® SR} giaT @ S8l | 919 e ora § |

[Question ID = 24555]

1. Nominal scale / BlECR IRl [Option ID = 38218]
2. Ratio scale / Ut HIUHI [Option ID = 38215]

3. Ordinal scale / ShHdh IO [Option ID = 38216]
4. Interval scale / 3fcRTd AU [Option ID = 38217]

—T—Correct Answer =

www.FirstRanker.com
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+ Ratio scale / 3{Urd |G- [Option ID = 38215]

30) Match the following:

1. The cognitive schemas used by social perceivers i) Stereotypes
to process information about others.

2. It can be typically conceptualized as an ii) Prejudice
attitude that has a cognitive component.

3. It is about denying individuals or groups of iii) Discrimination
people equality of treatment which they may wish.

4. 1t refers to inappropriate and potentially unfair

treatment of individuals due to group membership.
Fafafeq 4 fram s

1. g1 & fawa & =1 wenwur & ferg wmrfore i) TEUFU
TEUIHHI3N GRT Uged HAAIHD FHHAT
23'\ﬁarm—cﬁ?mﬂ@ﬁarf‘"—rqﬁr$wﬁw%mm i) gdug
STt 3, o ST uew 8t

3. Ug wfaa a1 feadl & JYg §RT 5iw5d qaER i) fAveT
P U P THRAT &

4. I AP ASdl & SR AfGdl & AU FUTH U
3R rgfRId sgagR ! fAfdy a1 g
[Question ID = 24583]

1. 3 (i) 2 (ii) 1 (iii) [Option ID = 38329]
2. 1 (i) 3 (ii) 2 (iii) [Option ID = 38330]
3. 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]
4. 2 (i) 1 (ii) 3 (iii) [Option ID = 38328]

Correct Answer :-
o 1 (i) 2 (ii) 3 (iii) [Option ID = 38327]

31) ‘Hypothesis’ in research is a:
ot <y A wrem e -
[Question ID = 24557]

1. factual statement. / dATHD $2F{% | [Option ID = 38224]
2. tested statement. / U8 HYT § | [Option ID = 38225]
3. conjectural statement. / 3JHITY Xd $2Fr% | [Option ID = 38223]

4 ol ’Jrﬁl‘%‘%:r Ioljé’ [ aY himY 2023727
T T CCUTUCUY ol.ul.clllclll. / ST IINTINSINT A2 S Qb LU'JLIUII ITo — JUZZVU]
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Correct Answer :-
 conjectural statement. / 3{JHITY Xd W’H% | [Option ID = 38223]

TMY-3fiBsl & AR 3MTdeH Dt FHedl 0.263 A HH Bl df 3ATae T —
[Question ID = 24565]

1. Leptokurtic / T dpal [Option ID = 38258]

2. Platykurtic / §UTE ®dal [Option ID = 38255]
3. Skewed / fa&H [Option ID = 38257]

4. Mesokurtic / % ®gdl [Option ID = 38256]

Correct Answer :-
« Platykurtic / §UT¢ @®dhdl [Option ID = 38255]

33) Fatima has got a new cell phone number, but finds herself giving her old one when someone
asks her for it. This is an example of

Wﬁwwmwm%me%%w$mmmWﬁ%ﬁ%m‘s’B‘cﬂBTUT

[Question ID = 24590]

1. memory trace. / Sfd BTU &1 [Option ID = 38357]

2. memory decay. / §fd ¥ &I [Option ID = 38358]

3. proactive interference. / 3FTdI& §XA&Y &1 [Option ID = 38355]
4. retroactive interference. /Tfﬂ&ﬁ T P [Option ID = 38356]

Correct Answer :-
o proactive interference. / e gxaay &1 [Option ID = 38355]

34) What is the relationship between negative reinforcement and punishment?

THRTAP [Ida 3R ¢ W FT Hae § ?
[Question ID = 24589]

1. Both tend to weaken a response. / Gl § 3{fshaT B HHTR B Bt T 81t & | [Option ID = 38352]

2. Both tend to strengthen a response / GIFI & 3f%haT &I Yeg B &I UgRI BIdl § | [Option ID = 38351]

3. Negative reinforcement weakens a response while punishment strengthens a response. / THRIHD Ljﬁ@fﬂﬂ
ST BT AR Bl § A 8 AT Bl g Hal ¢l [Option ID = 38354]

4. Negative reinforcement strengthens a response while punishment weakens a response. / THRIHD gd&rcﬁ

3foRTT Y YEg IR § dh &8 Tl B! HHGIR Bl g1 [Option ID = 38353]

Correct Answer :-

« Both tend to strengthen a response / @I § 3fIfhaT ®I G B B! Ul 8l & | [Option ID = 38351]
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35) A child with linguistically different background studying in grade two (in a class with majority
speaking same language) is appearing for assessment. Which of the following would be the most
suitable approach during the process of assessment?

o i e ggHfY a1a 9= (S P& § ISR 95 YA HIT S 8) BT o) Haf 3 § UedT 2, qedis=
forar o 8 | Fafeafaa # @ S19-91 Sur geaied ufshar & fore aifie Suged ghm 2

[Question ID = 24575]

1. Child should be asked to learn the language of majority of students before assessment. / Jedich g Uﬁﬁ Cal
Pl o SR T=dl 1 IV WG o 1T FHaT T 91T | [Option ID = 38296]

2. Parents should be asked to make the child learn the second language for assessment. / ATT-fOar ¥ HgT S
TR % s B YT & forg gust HIeT fR{amd | [Option ID = 38298]

3. Assessment should be done in the language of the majority of the students of the class. / Hcdih D&l &
SHIYB Sl DT U H b ST AT | [Option ID = 38295]

4. Assessment can be conducted in child’s first language. / Jedidh S ! UYH UTST H {1 ST TawaT § | [Option
ID = 38297]

Correct Answer :-

« Assessment should be done in the language of the majority of the students of the class. / e~ D& &
STeRIReT =l Bt HINT | far ST =gy | [Option ID = 38295]

36) Man is born free but everywhere in chains. So freedom not being absolute, who said “"Freedom
entails responsibility”?

T ST ¥qad @ fabeg 8% T 98 o o du1 @ | 3ra: Tadar sfifia gl @ | o ug frun s e
AT STRGIAE AB 3Tl § 17

[Question ID = 24571]

1. Sri Krishna in Bhagvad Gita. / H7Tagidl & $igWr = [Option ID = 38279]
2. Sri Aurobindo. / #t 3Rfdg 3 [Option ID = 38280]

3. 1.J. Rousseau. / Sf. S. =41 = [Option ID = 38281]

4. Jean Paul Sartre / ST UTdf I A [Option ID = 38282]

Correct Answer :-

« Sri Krishna in Bhagvad Gita. / WTGGIAT | %ﬁ?ﬂﬂﬁ [Option ID = 38279]

37) Right of Children to Free and Compulsory Education (Amendment) Bill, 2019 states that :

I. Child can be expelled from a school before the completion of elementary education.

II. There shall be a regular examination in the fifth class and in the eighth class at the end of every
academic year.

II1. The appropriate Government may allow schools to hold back a child in the fifth class or in the
eighth class or in both classes

IV. If a child fails in the examination, he shall be given additional instruction and granted
opportunity for re-examination within a period of two months from the date of declaration of the
result.

r:31e0 v sifvrard a1ar fRren siferR (=Mt faa, 2019 & AR

I 99 & RS Rien @1 gt | gd faemay @ fFreefa o st aswar g |

I1. US Spleiie a4 & 3id # uradl 3R 3madl e A fAafira wdhen 1 anfee |

I g IReTR [qaTadl T atadt Sraar Sedl SaT | Srdar Gl BETail | b BT SJuia G apaie 1
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1V. T B T wden & Srgiol giar € o) 39 sifafiad ergee ik ufvoms #t givon 5t fafy @ S v @t
3afy & War ddien &1 @R faar s anfge |

[Question ID = 24594]

1. Only I and II / &ad I 3R II [Option ID = 38371]

2. Only I, 111, and IV / %4 II, III 3R IV [Option ID = 38374]
3.0nly I, I and IV / 3dd I, II 3R IV [Option ID = 38373]
4.0nly I, 11, and IIT / Sad I, II 3R III [Option ID = 38372]

Correct Answer :-
« OnlyIand II/3dd I 3R II [Option ID = 38371]

38) Hypothetical-deductive reasoning develops in

UTFP TR S AT difhadl P fabrd gidl & —
[Question ID = 24577]

1. concrete operational stage / H;Z-f Tfgaraer o [Option ID = 38304]

2. pre-operational stage / Uﬁﬂmﬁ@ﬂ | [Option ID = 38305]

3. sensory motor stage / Hadl IR a1 o [Option ID = 38303]

4. formal operational stage / 3R Tfehara=yT & [Option ID = 38306]

Correct Answer :-
« sensory motor stage / Tddl TR& S@RIT H [Option ID = 38303]

39) The curriculum planning at any level of education should include the diverse socio-personal
experiences of the students because:

Rren & fadt W TR W uremrat e ® Rienfiat & fafyuarngf Tus - dafdas srval <1 wnfia fear
ST T1fge Faife

[Question ID = 24574]

1. it is significant for engaging them with new ideas and ways. / 3= =TT faaR} 3R T} & 1Y Ty fovar ST
Tg<aquf § | [Option ID = 38291]

2. it is important to appease the communities for the purpose of gaining votes./ Id U & WIS ¥ TG Bl
G 1 HEYU! ¢ | [Option ID = 38294]

3. the students are not interested in learning anything other than their own ideas. /%@T%ﬁ&rq?r fon faarl &
Sffafead $& t SiR Wra=1 =81 a8d | [Option ID = 38292]

4. the parents and communities are against including experiences other than that of their own community./
TP 3R TS U TG & Sifafad 30 TG & 3Hal B! WMAT F- & %5 & | [Option ID =
38293]

Correct Answer :-
« it is significant for engaging them with new ideas and ways. / 3% Y faaRt 3R Tl & Ty ot fpar o

Hewgul § | [Option ID = 38291]

40) The effect of Kant’s pedagogical method is to lead the child to :
Tt bt - freed

N 14
II: Determination by another must Iw\xm,nﬁ?gmgdw:é)rresmal self-determination;
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III: Primacy of theoretical over practical learning.

BHIUC P RIGTETY fAf 1 UHT 9= F SRR HRaT 8 :

I: SUP! WY B Wd-dl S Tgar™ Bl 3R

II: 30 gRT F1ufRor A srazge dk ) aifde sma-Frufor # siafvd g1 9t ik
III: SOTagTe IR IR Agifad Afe &t uur=ar $1 3l

[Question ID = 24572]

1. 11 & IIT / I 3R III [Option ID = 38284]
2. 1&I11/ I 3R III [Option ID = 38283]
3.1&II/1 3R II [Option ID = 38285]

4. only III / &ad III [Option ID = 38286]

Correct Answer :-
« I&III/I 3R III [Option ID = 38283]

41) The main contribution of Bourdieu’s work in education lay in the development of a broad theory
to explain the reproduction of:

%&éﬁwﬁﬁﬂww%ﬁuﬁﬁ@aﬁﬁﬁmﬁwﬁwwﬁ%ﬁmwﬁmﬁ
?

[Question ID = 24582]

1. economic and political inequalities through class, and the legitimation of these inequalities through
misrecognition. / @ & 3MYR W 3 3R ISfAd AT 3R 37 FGHFAISH B TTdd AT B
3efeHRUT & [Option ID = 38325]

2. economic and political inequalities through class, and the legitimation of these inequalities through recognition.
/T P YR TR 3B 3R IeHfaes SRS 3R 37 AN B AT S a4IHRu1 & [Option ID =
38324]

3. cultural and social inequalities through education, and the legitimation of these inequalities through
recognition./ TRTeT & SMYR W ARG MR HIRTS SRHFAN 3R 37 SGHMFAIST B AT SR aiHR0r &
[Option ID = 38326]

4. cultural and social inequalities through education, and the legitimation of these inequalities through

misrecognition. / TRI&T & YR TR ARPfAH 3R AHING SRHFAN 3R S SAHMS B T A=Al GhR
JefieR0T & [Option ID = 38323]

Correct Answer :-
« cultural and social inequalities through education, and the legitimation of these inequalities through

misrecognition. / R & YR TR Aplaw MR AHIS SR 3R 37 SRS Y Teid AT S
34fiepRuT & [Option ID = 38323]

[Question ID = 24578]

1. Berkley’s / §d [Option ID = 38310]
2. Hegel's / U [Option ID = 38307]
3 Platg’s / WA [Ontion ID = 38308]

4, Kant's / @TUC [Option ID = 38309]
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Correct Answer :-
e Hegel’s / U [Option ID = 38307]

43) The word 'positivist' seems to refer to those accounts, which study systematically what is

“TEETdl’ Teg 3 faavun &1 fAfEy a1 udia a1 & S HafRId U & I8 g $dl ¢ 15 HI
[Question ID = 24581]

1. hidden, abstract and cannot be observed directly./ &, 3 3R Uera: Uefig &l 8 | [Option ID = 38320]

2. bound to give positive contribution to the society. / THTS H YHRIAD TRTGH o & (o4 G g [Option ID =
38321]

3. clear, factual and open to observation. / Y, TS 3R &ufig 8 | [Option ID = 38319]

4. clear, abstract and open to observation. / ¥J¥, H\?f 3R Yeuitg % | [Option ID = 38322]

Correct Answer :-
 clear, factual and open to observation. / WY, TATHD 3R Terofa | | [Option ID = 38319]

44) The key difference between ‘bibliography’ and ‘references’ is:
G 3R weH-gHt § ger eiv § -

[Question ID = 24562]

1. They both should be listed separately to show the rigor of the study./ &g B! HiETa DI gU[ & forg gt
DI gYH ¥U I JaiaG [T o1 AT | [Option ID = 38246]

2. They are interchangeable terms./ I RER IRadHg U § | [Option ID = 38245]

3. The latter includes all readings, whereas the former includes only the cited ones./ dig arel § gt ure-ius
M B § Sfafeh Ugd arel § dhad IgYd UTa-TUE &l WA 8 & | [Option ID = 38244]

4. The former includes all readings, whereas the latter includes only the cited ones. / Ugd § gyt urs-gug wid
Bd § Jafeh a1g ard § $Had IgYd UI3-TUg & A g1d & | [Option ID = 38243]

Correct Answer :-

o The former includes all readings, whereas the latter includes only the cited ones. / ggd § gt ure-Trg
A gd § Tafd a1 a1 | had IgYd US-TUe & WMAS 8 & | [Option ID = 38243]

45) The following is a list of topics suggested for research. Which one of the following topic is not
appropriate for ethnographic studies?

T ve My F e Yme 1T oo RAvd $1 g € 1 398 § S-u1 fRAwg FRage sreaget & e Suged T8 8

[Question ID = 24549]

1. Studying students — teacher relationship in a rural primary school / THor Tufies faenea H foenf-Ries &y
BT 3T [Option ID = 38191]

2. Studying effect of media coverage upon the outcome of demonetization / fagIdmRur & TRUH WR Hifgar Had
& UHIG BT T [Option ID = 38194]

3. Studying social relationship in a class of emotionally disturbed children / IS T Y R S1AD] DI HET
T QST T&Y &1 319 [Option ID = 38193]
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4. Studying the changes in attitude and behavior in a drug abuse rehabilitation centre / AR ot garsff 9 d S
fgaal & e garg &g # 3! gy 3R sadgR # uRad-i &1 3™ [Option ID = 38192]

Correct Answer :-

« Studying students — teacher relationship in a rural primary school / JTHYT UTfires faemera  faemeif-Riers
&Y BT ¥ [Option ID = 38191]

46) The mean and standard deviation of a set of scores are 80 and 12 respectively. If each raw
score is increased by 4 then new mean and standard deviation would be:

3] F TP YT BT A1 3R ATS faga= Ha=r 80 3R 12 8 | 4fe U AT THS &) 4 9T fear wie
@t a1 J1eH 3R A fa=red g -

[Question ID = 24554]

1. 80, 16 [Option ID = 38212]
2. 80, 12 [Option ID = 38211]
3. 84, 12 [Option ID = 38213]
4. 84, 16 [Option ID = 38214]

Correct Answer :-
e 80, 12 [Option ID = 38211]

47) A researcher should use large sample size when:

I: there are many variables to study.

II: the sample is heterogeneous in terms of the variables under study.
I1I: reliable measures of the dependent variable are unavailable.

IV: there are enough financial resources.

Which among the following is true?

TMYyDdl Bl 9 Ufdel BT SUUNT ST I3, 5
I g & fore 8 TR &l |

II a9 & fore ufaest # =R fawda 8t |

III 3Tf3a @RI & fore faya-ita Aue Suasy T 8 |
IV Ui faxiig dare= Suers 8 |
fafafead a s-aTaa e ?

[Question ID = 24558]

1.1 & III / I 3R III [Option ID = 38229]

2. 1&II/1 3R II [Option ID = 38230]

3.1, II & IIT / I, II 3R III [Option ID = 38228]
4.1, T &IV /I, II 3R IV [Option ID = 38227]

Correct Answer :-
e LIT&IV/I II 3R IV [Option ID = 38227]

48) Phenomenology has its disciplinary origin in:

TogueH] O3 &1 SRS qd &
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[Question ID = 24585]

1. Anthropology / Jfa3 & [Option ID = 38336]
2. Psychology / H-Ifas H [Option ID = 38338]
3. Sociology / THISIRIRA H [Option ID = 38337]
4. Philosophy / =1 H [Option ID = 38335]

Correct Answer :-
o Philosophy / GR[H o [Option ID = 38335]

49) You are shocked to hear that two of your coworkers who seemingly hated one another are now
getting married. According to Freud, what defense mechanism best explains their prior behavior?

3TY 3 91 B! YD T4 & {5 3P 3 Teddl o Th-ga¥ § AWd Hd Udid &id A, g Aae + e & |
WIS F ATAR I-TT UfaReT-d7 37 Ydad! sIdeR & TP HaT g ?

[Question ID = 24592]

1. Regression / Wi THA [Option ID = 38366]

2. Projection / B&qur [Option ID = 38363]

3. Repression / GH [Option ID = 38364]

4. Reaction formation / gfdafshar-faem [Option ID = 38365]

Correct Answer :-
« Projection / U&TUT [Option ID = 38363]

50) You are a teacher in a secondary school and you find your students very creative. How would
you study the link between their creative expression and their academic achievement?

3T AH s} faemay # e § iR st 3= faemf aga gortere @vd § | 83U 39 G-
Sfiaafat o 3@ Qeifre Iuafs # Tay &1 eaad v HI3 ?

[Question ID = 24563]

1. By trend analysis / qqﬁ—r ICEGLE [Option ID = 38247]

2. By correlational research / GgHaYTH® MY I [Option ID = 38249]

3. By causal-comparative research / PRUMTHD-JTTHD My [Option ID = 38248]
4. By semi-projective techniques / id-gardt ae-ite o [Option ID = 38250]

Correct Answer :-

« By trend analysis / Ugfi fa=eiwor I [Option ID = 38247]
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